Go Memory usage

package main

import (
"Emt
)

name string
salary int
sales int
bonus int

}

const BONUS |

ntage t= (salary * BONUS_PERCENTAGE) / 106 P1 mcache

return percentage

noOfSales int) int {
;

ynusPercentage(salary)
noOfSales

main frame

BONUS_PERCENTAGE| 1(]

Employee{"John", 5000, 5, 0}
john.bonus = findEmployeeBonus(john.salary, john.sales)
fmt.Println(john.bonus)




Go Memory usage

package main

Goroutine stack

import (
"fmt"
)

type Employee struct {
name string
salary int
sales int
bonus int

const = GE = 10

Employee:

func ntage(salary int) int {

new

(salary * BONUS_PERCENTAGE) / 1600

name

“John”

return percentage

salary

5000

sales

5

bonus

0

(salary, noOfSales int) int {
y 3 = (salary)
:= bonusPercentage * noOfSales
return bonus

main frame

john

~

BONUS_PERCENTAGE

= Employee{"John", 5000, 5, 0}
= (john.salary, john.sales)
(john.bonus)

P1 mcache




Go Memory usage

package main

import (
" fmt"
)

name string
salary int
sales int
bonus int

sercentage := (salary % BONUS_PERCENTAGE) / 100 P1 mcache
return percentage

Bonus(salary, noOfSales int) int {
Y g getBonusPercentage(salary)
:= bonusPercentage * noOfSales

return bonus main frame

john
BONUS_PERCENTAGE

Employee{"John", 5000, 5, 0}
s = findEmployeeBonus(john.salary, john.sales)
t1n(john.bonus)




Go Memory usage

nackage main
oo Goroutine stack
import (

"fmt"
)

type Employee struct {
name string
salary int
sales int
bonus int

const = GE = 10
findEmployeeBonus

func ntage(salary int) int { :
v (salary * BONUS_PERCENTAGE) / 100 ol 5000 ; P1 mcache
return percentage noOfSales 5 ;

(salary, noOfSales int) int {
Y : = (salary)
:= bonusPercentage * noOfSales

retur i
return bonus main frame

john
BONUS_PERCENTAGE

~

= Employee{"John", 5000, 5, 0}
= (john.salary, john.sales)
(john.bonus)




Go Memory usage

nackage main
oo Goroutine stack
import (

"fmt"
)

type Employee struct {
name string
salary int
sales int
bonus int

const = GE = 10
findEmployeeBonus

func ntage(salary int) int { :
v (salary * BONUS_PERCENTAGE) / 100 SE 5000 ; P1 mcache

return percentage noOfSales 5 :
bonusPercentage 0

(salary, noOfSales int) int {
Y : = (salary)
:= bonusPercentage * noOfSales

retur i
return bonus main frame

john
BONUS_PERCENTAGE

~

= Employee{"John", 5000, 5, 0}
= (john.salary, john.sales)
(john.bonus)




Go Memory usage

nackage main
oo Goroutine stack
import (

"fmt"
)

type Employee struct {
name string
salary int

sales int salary| 5000
bonus int

getBonusPercentage

}

const JS3 NTAGE = 10
findEmployeeBonus
func rcentage(salary int) int {
:= (salary * BONUS_PERCENTAGE) / 100 salary 5000

return percentage noOfSales 5
bonusPercentage (0]

(salary, noOfSales int) int {
X : = 2(salary)
:= bonusPercentage * noOfSales

o L H
return bonus main frame

john
= Employee{"John", 5000, 5, 0} SO PEACENIEElE
= v (john.salary, john.sales)
(john.bonus)

P1 mcache




Go Memory usage

nackage main
oo Goroutine stack
import (

"fmt"
)

type Employee struct {
name string
salary int

sales @nt salary 5000
bonus int percentage 500

getBonusPercentage

}

const JS3 NTAGE = 10
findEmployeeBonus
func rcentage(salary int) int { :
t= (salary * BONUS_PERCENTAGE) / 100 salary 5000 § P1 mcache
return percentage noOfSales 5 :
bonusPercentage 0

(salary, noOfSales int) int {
X : = 2(salary)
:= bonusPercentage * noOfSales

o L H
return bonus main frame

john
= Employee{"John", 5000, 5, 0} SO PEACENIEElE
= v (john.salary, john.sales)
(john.bonus)




Go Memory usage

nackage main
oo Goroutine stack
import (

"fmt"
)

type Employee struct {
name string
salary int

sales @nt salary 5000
bonus int percentage 500
} return 500

getBonusPercentage

const JS3 NTAGE = 10
findEmployeeBonus
func rcentage(salary int) int { :
t= (salary * BONUS_PERCENTAGE) / 100 salary 5000 § P1 mcache
return percentage noOfSales 5 :
bonusPercentage 0

(salary, noOfSales int) int {
X : = 2(salary)
:= bonusPercentage * noOfSales

o L H
return bonus main frame

john
= Employee{"John", 5000, 5, 0} SO PEACENIEElE
= v (john.salary, john.sales)
(john.bonus)




Go Memory usage

nackage main
oo Goroutine stack
import (

"fmt"
)

type Employee struct {
name string
salary int
sales int
bonus int

}

const = GE = 10
findEmployeeBonus
func ntage(salary int) int { :
t= (salary * BONUS_PERCENTAGE) / 100 salary 5000 § P1 mcache
return percentage noOfSales 5 :
bonusPercentage 500

(salary, noOfSales int) int {
Y : = (salary)
:= bonusPercentage * noOfSales

retur i
return bonus main frame

john
BONUS_PERCENTAGE

~

= Employee{"John", 5000, 5, 0}
= (john.salary, john.sales)
(john.bonus)




Go Memory usage

nackage main
oo Goroutine stack
import (

"fmt"
)

type Employee struct {
name string
salary int
sales int
bonus int

}

const = GE = 10
findEmployeeBonus
func ntage(salary int) int { :
t= (salary * BONUS_PERCENTAGE) / 100 salary 5000 § P1 mcache
return percentage noOfSales 5 :
bonusPercentage 500
bonus 2500

(salary, noOfSales int) int {
Y : = (salary)
:= bonusPercentage * noOfSales

retur i
return bonus main frame

john
BONUS_PERCENTAGE

~

= Employee{"John", 5000, 5, 0}
= (john.salary, john.sales)
(john.bonus)




Go Memory usage

nackage main
oo Goroutine stack
import (

"fmt"
)

type Employee struct {
name string
salary int
sales int
bonus int

}

const = GE = 10
findEmployeeBonus
func ntage(salary int) int { :
t= (salary * BONUS_PERCENTAGE) / 100 salary 5000 § P1 mcache
return percentage noOfSales 5 :
bonusPercentage 500

) ) bonus 2500
(salary, noOfSales int) int { P 2500

X : = (salary)
:= bonusPercentage * noOfSales
return bonus

main frame

john
BONUS_PERCENTAGE

~

= Employee{"John", 5000, 5, 0}
= (john.salary, john.sales)
(john.bonus)




Go Memory usage

package main

import (
"Emt
)

type Employee struct {
name string
salary int
sales int
bonus int

}

const BONUS PE

func getBonusPercentage(salary int) int { E
percentage t= (salary % BONUS_PERCENTAGE) / 108 : P1 mcache
return percentage

}

func findEmployeeBonus(salary, noOfSales int) int {
bonusPerce ge 3= getBonusPercentage(salary)
bonus := bonusPercentage * noOfSales
return bonus . : name| “John”
} main frame : —— 5000
- : sales 5
func main() { john : bonus 2500
var john = Employee{"John", 5000, 5, 0} SOLs PEMCENTCEE :
johi Is = findEmployeeBonus(john.salary, john.sales)

Employee

fmt.@riutlu(john.bonus)




Go Memory usage

package main

import (
"Emt
)

type Employee struct {
name string
salary int
sales int
bonus int

}

const BONUS PE

func getBonusPercentage(salary int) int { E
percentage t= (salary % BONUS_PERCENTAGE) / 108 : P1 mcache
return percentage

}

func findEmployeeBonus(salary, noOfSales int) int {
bonusPerce ge 3= getBonusPercentage(salary)
bonus := bonusPercentage * noOfSales
return bonus . : name| “John”
} main frame : —— 5000
- : sales 5
func main() { john : bonus 2500
var john = Employee{"John", 5000, 5, 0} SOLs PEMCENTCEE :
johi Is = findEmployeeBonus(john.salary, john.sales)

Employee

fmt.@riutlu(john.bonus)




